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First Year B.Com., Examination, October/November 2013
(New SIM Scheme)

FINANCIAL ACCOUNTING – I

Time : 3 Hours Max. Marks : 90

PART – A

Answer any three questions. Each question carries 15 marks.

1. From the following Trial Balance of Mr. Komal and other information given, prepare
Trading and Profit and Loss Account and Balance Sheet as on 31-3-2012.
                                                                   Dr.                Cr.
���������������������������������������������������������� ���������������

Purchase and Sales 4,10,000 6,85,000
Returns 5,000 10,000
Drawings 15,000 –
Capital – 3,00,000
Carriage outwards 10,000 –
Debtors and Creditors 1,25,000 1,00,000
Bank overdraft – 50,000
Investment 1,50,000 –
Interest on investment – 7,500
Salaries 16,500 –
Interest on bank loan 6,000 –
Bills Receivable and Bills Payable 50,000 76,500
Bad Debts 6,000 –
Discount 4,000 10,100
Stock 1-4-2011 16,000 –
Wages 7,000 –
Insurance 6,000 –
Computer 1,40,000 –
Office Expenses 18,000 –
Cash in hand 6,600 –
Land and Building 2,00,000 –
Furniture 48,000 –

12,39,100 12,39,100
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Adjustments :

1) Closing stock Rs. 25,000

2) Provide Reserve for Bad Debts 5% on Debtors

3) Salary outstanding Rs. 3,000

4) Depreciate Computer by 10%.

2. Hero Cycles Company Delhi consigned 2000 bicycles to Dravid Brs. Bengaluru
at a cost price of Rs. 1,800 each. Hero Cycle Company paid freight Rs. 15,000
and insurance in transit Rs. 5,000. During transit 100 bicycles were totally damaged
by fire. Dravid Brs. took delivery of remaining bicycles.

Dravid Brs. sent a bank draft to Hero Cycle Company for Rs. 8,00,000 as advance
payment and later sent an account sales showing that 1800 bicycles were sold
at Rs. 2,500 each. Expenses incurred by them on godown rent and advertisement
@ Rs. 25,000. Dravid Brs. was entitled to a commission of 5%.

Prepare Consignment Account, Dravid Brs. account in the book of Hero Cycles
Company Delhi.

3. Mr. Sunil keeps his books of accounts under Single Entry System. From the
following details prepare Trading and Profit and Loss Account and Balance Sheet.
                                                        1-1-2012               31-12-2012
����������������������������������������������������� ��������������������

Buildings 2,00,000 2,00,000
Creditors 75,000 87,500
Furniture 5,000 5,000
Cash 12,500 60,000
Debtors 1,25,000 1,75,000
Stock 50,000 65,000
Other Information :
Bad Debts 2,500
Discount Received 7,500
Discount Allowed 5,000
Sundry Expenses 15,000
Payment to Creditors 2,25,000
Received from Debtors 2,67,500
Drawings 20,000
Sales Returns 7,500
Purchase Returns 2,500
Charge Depreciation on furniture at 5%.



4. A and B sharing profits equally, enter into joint venture to construct a Bungalow
for Divan Trading Co. Ltd., at a contract price of Rs. 20,00,000.
For this purpose, they opened a joint bank account in which A deposited
Rs. 8,00,000 and B deposited Rs. 6,00,000.
The following transactions took place :

a) A paid Rs. 75,000 as Architect fees and B paid Rs. 2,50,000 to purchase a
concrete mixer.

b) They paid Rs. 2,00,000 for plant, Rs. 5,00,000 for materials and Rs. 4,50,000
for wages and other expenses.

The construction being completed and contract price was duly received. A
took over unused materials for Rs. 50,000 and B took over concrete mixer for
Rs. 1,25,000. The Plant was sold for Rs. 80,000.

You are required to prepare Joint Venture Account, Joint Bank Account and
Co-Ventures Account.

5. From the following Receipts and Payments Account of Heritage Club, Mysore for
the year ending 31-12-2012 and the additional information, prepare Income and
expenditure Account and the Balance Sheet as on 31-12-2012.
Receipts and payments Account for the year ended 31-12-2012
     Receipts ������������������������������������            Payments ���������������������������������
To Balance b/d 22,800 By Salaries 23,600
 ” Subscriptions  ” Entertainment Exp. 4,900

2011 880  ” Electric Charges 1,680
2012 17,600  ” General Expenses 3,200
2013 1,700  ” Investments 9,000

” Entertainment receipts 8,800  ” Stationeries and printing 800
” Sale of old furnitures 520  ” News papers 1,600
” Sale of News Papers 200  ” Furniture 1,000

 ” Balance C/d 6,720
52,500 52,500

The club has 100 members, each paying an annual subscription of Rs. 200.
Rs. 400 is still in arrears for subscription for 2011. In the year 2011, two members
had paid their subscription for 2012 as well. Salaries paid included Rs. 800 for
the year 2011 and Rs. 1,200 for 2013. Outstanding salaries for the year 2012
amounted to Rs. 1,600.

On 1-1-2012 the club owned land and building valued at Rs. 80,000 and furniture
Rs. 9,000.

On 31-12-2012 interest for four months at 10% per annum on investments
outstanding.
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PART – B

Answer any 3 questions. Each question carries 10 marks.

6. What are Accounting Conventions ? Distinguish between the accounting concepts
and accounting conventions.

7. What is Single Entry System ? What are its merits and demerits ?

8. Write the differences between ‘Account Sales” and ‘Proforma Invoice’.

9. Journalise the following transactions in the books of Surya.
���������������������������������������������������������������������������������

2013 Jan. 1. Commenced business with cash 5,00,000
Jan. 2. Purchased goods from Shiva on credit 1,10,000
Jan. 4. Bought goods from Mr. Rama 5,000
Jan. 7. Sold goods for cash 12,000
Jan. 10. Sold goods to Vivek 15,000
Jan. 12. Cash paid to Mr. Ramu 4,000
Jan. 15. Cash received from Vivek 13,500
Jan. 25. Rent paid to land lord 2,000
Jan. 28. Received interest 3,500
Jan. 31. Purchased Furniture 1,25,000

10. From the following particulars relating to the business of Raju, prepare the Bank
Reconciliation statement.
������������������������������������������������������������������������������������������

1) Balance as per Pass Book (Cr.) 18,000

2) Cheques issued but not presented 30,000

3) Cheques deposited but not credited 3,000
4) The credit side of the bank column of the cash book 1,000

has been over-added by
5) Banker has given credit in the pass book for interest 300

6) He has also given a wrong credit relating to some other account 600

PART – C

Answer any 3 questions. Each question carries 5 marks.

11. What is consignment ? How does it differ from sale ?
12. Write a note on Subsidiary books.

13. State the differences between Journal and Ledger.
14. Write a note on Indian Accounting Standards.

15. State the objectives of Book-Keeping.
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1. ����������������� !� ���������"��	��#$����������%������ 31&3&2012��'� ��
����
���(�����$�)��'
��
*���+,	���	����-��	����.������������+�/����$�!�.������������0�����������1��2�3���� !������
������.
�������������������������������������������������������������������������������������� �������������������	��
����������������������������������������������������������������������������������������

4�*%������������	�5 46106000 66856000
����7�8 56000 106000
7�9������:�; 156000 –
<�=����� – 36006000
���	�5�����>�2�>�� 106000 –
?�@��������������A�@����� 16256000 16006000
2�-�����#�*���� – 506000
B�
>�� 16506000 –
B�
>������*C���<>D – 76500
7��<�� 166500 –
2�-��,�7�E������*C���<>D 66000 –
<	�2�*�����B���
���
=�2�*�����B���>����� 506000 766500
��	�=���7�E 66000 –
7�
*> 46000 106100
7�	�����FE�'�(1&4&2011) 166000 –
��
C 76000 –
#��� 66000 –
��G��������
 16406000 –
��H�*����:�;����� 186000 –
������� 66600 –
/�
#������������5!=� 26006000 –
I*J�
*��	�G����� 486000 –

12�39�100 12�39�100
������ ����!���"
1) ��8����7�	�������7������	�
.�256000
2) 7�E��	�	�����*+����*.�5���	�=���7�E�#�*7�E������K��.
3) 7��<���2�L�"	���������	�
.�36000
4) ��G��������
��������*+����*.�10�	�����7�����������K��.
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2. M*	�
*� 7�N��+,� �����O���B�C�"��	�����
#=,�<
��7,)�2������
	���"������ ��
8*� 7�N��+,��
	�
.�16800	������7�E��2�+��P%3	�����26000�2�N���+,������������	�5��'�������M�	�����	�.�M*	�
*
�����O����	���7���@�����:�;�	�
.�156000�B���
�#������:�;��	�
.�56000 ���������O*>	�����	�.
7���@���7��������CQ��100�2�N���+,������2��LK�������RG)���$�!��
���(�����.���
#=,�<
��7,)
�����2�N���+,�����������=������
���(���	�.

��
#=,�<
��7,)�M*	�
*������O���������������=�����86006000�	�
.���������2�-�L������
E��
O*>	�����	�.������	�����	�5��� !�������������������M7�����	�.����	�CQ��1800�2�N���+,��������
��+��26500�	�
.������������	���������8�7�����	�.����	������
G��:�;������������
:�	����:�;������
	�
.�256000�O*>	�����	�.

��
#=,�<
��7,)	���	�����*.�5�����(C���=�������	�.

M*	�
*�7�N��+,������O����7������CQ��7�	�����	������.��������������
#=,�<
��7,)�.����������.

3. F
*�7��O+,	���	��������S�+���'����7�������������T�������
��������U8��CQ��" !	�����	�.�����������#��	�������
��-��	��.���6�+�/����$�!�.����B���
�0���B�
V���� !��������������.

��������������������������������������������������������             1#-1-#2012 ���� 31#-12-#2012

�������������������������������������������������������������������� ����������������

��5!=� 26006000 26006000

7������	�	�� 756000 876500

I*J�
*����	�G 56000 56000

������� 126500 606000

7�E��	�� 16256000 16756000

7�	���� 506000 656000

$%����	�&'���!���"
��	�=���7�E 26500

7�
*>���=������3 76500

7�
*>�P5!���3 56000

"��	����:�;����� 156000

7�B����	�������
5!���3 26256000

7�E��	��������=������3 2,67,500

7�9������:�; 206000

���	�5�����7�8 76500

4�*%�����7�8 26500

I*J�
*����	�G������*+����*.�5�7�����������K��.
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4. W���������P�	���	���7������
���G��CQ��+�/��B��X��
���(����	��.����	���%���,�Y�
*>��,������O��
206006000�	�
��K����Z��[������2�+�������*+��Z�����<���+��O#�)7�E��1� ����-�����'
��
��*F���	��.
�����3*����'��1� �2�-��,�.������������	�����0�.������W�	���	���86006000�	�
.���������P�	���	��
66006000�	�
.�J�*��@����>��	��.
������������-��B�	���������=�������\
�) W�	���	�����7���FC[������E'�756000�	�
.�������������8���	�����������P�	���	������L
Y,�#���
G��

�����
�������4�*%7�E��26506000�	�
.��������������8���	��.
<) ���	���7�]��	����
��(E��26006000�	�
.�7�����
������56006000�	�
.�����������
C���������"��	�

4X)���46506000�	�
.�����8���	��.
O���)G�������)���RG)��
�>������������Z��[������2�+��������7���E��CQ����=���	��.�W�	���	��
���̂ 
*�7����7�����
���������506000�	�
.���������������P�	���	������L
Y,�#���
G��������
������
16256000�	�
.����������������
�=�	��.�7�]��	��������806000�	�
.����������	�+�K����.
1� ����-����.���6�1� �2�-��,�.����B���
�7�B����-#������.������������������.

5. >7��<	,�316�2012��'�����-��������B��Y�*_,���Q2,����N7�
����0����-���.������������������
��
=�+����.�O*=�+����B�X;������M8������������@�����	��0�������:�;�.�������������`���
��8
���������������.
������(�����������������������������������������������������������	�)(�����������������������������������������������
0	��/��FE�' 226800 7��<�� 236600
����8���\ ������	��1�����:�; 46900

2011 880 �#���-:�aL�����E' 16680
2012 17,600 �7������-���:�;����� 36200
2013 1,700 �#O^
*1������� 96000

�����	��1��&0���� 8,800 7�b+�9	�����������������
G 800
B����I*J�
*����	�G��������3 520 ��c������8
������� 16600
��c������8
������	�5 200 I*J�
*����	�G 16000

���8����FE�' 66720
52�500 52�500

��Q2,���Z5�!� 7���7�-	�� 7��.�-� 100� "	�������.� ��
8^
<d	��� ��e)��� ���8������	�
.�200
����87�2�*���.�2011	����$�)��'�	�
.�400�<	�2�*�����.�2011	����$�)��CQ�"<d	���7���7�-	���2012��*
��$�)������8����������������=���������8���3	��.�����8����7��<����CQ�	�
.�8006�2011��*���$�)��'
7��<�b����3����������	�
.�16200��2013��*���$�)��'�7��<�b���3�	�������.�2012��*�7�C���2�L
7��<���	�
.�16600.

%������1&1&2012	��������QPd���0���"�8��.�/�
#������������5!=��	�
.�806000���������I*J�
*����	�G
	�
.�96000.

>7��<	,�316�2012��*���$�)���-��'�#O^
*1����������*+��7�C�������*.�10	�������E�'�8�����
<>D�2�L�"��.
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������*

���������	�
�	���������
���������������.��������
�����
�10����������.

6. +���'��7�f���7����
���������������g�+���'��7�f��������E[���������������+���'��7�f���7����
�����������=����
"	�������-��-7����������8��.

7. T��������
��������U8�W���	�*����g�"��	��������
E����������������������
E���������������g

8. hP������.��i���������h����������	�5���
8i�"�������	�������-��-7��������<	�K��.

9. F
*�7�
��)	���	�����7������CQ�����������=��#��	��������	�
*1����4+��<	�K��.

����

2013�1�����6� 1.���-��	������
	��/������%��
�%�� 56006000
  2.����3��4�*%�F��	������� 16106000
  4.�F
*�	����
	��������7�	�������
�>���3 56000
  7.������������	�5 126000
10.�#��*�,	�������7�	��������������������3 156000
12.�	����
	�������B�G�����8����3 46000
15.�#��*�,	��������B�G���=������3 136500
25.�/�
���C*������2�>�������8����3 26000
28.�<>D���������=�%	�������� 36500
31.�I*J�
*����	�G�����4�*% 16256000

10. F
*�	�1�	���	����-��B�	������� 7��<�b�����������������#��	��������2�-�L���B�
���@����
�� !�������������.

�������
1) ��7,���7���������
��	��"	�����FE�'�(1���) 186000

2) B�1	����>�EQ���O*>���:����'����� 306000

3) 1����0�EQ���B�1	����>����:����'����� 36000

4) �����������7�������2�-�L�����E���CQ�1����0�	�����B�:��;����B�G 16000

5) 2�-���	�������7������7������CQ�1�������>	�����<>D 300

6) "��	��.������7��<�b�����������[��1�������>���B�G 600


������+

���������	�
�	���������
���������������.��������
�����
�5����������.
11. 7�	�����	������W���	�*����g���������	�5L'����B�*���j���������g
12. 7�B���������7���������<��k�� ��[@�<	�K��.

13. 	�
*1����4+�����7�������������.�����������A�-�"	�������-��-7����������������g
14. /�	��������l� ��,�7�!�=�=,)���<��k� ��[@�<	�K��.

15. +���'���7�f�����7����������3*�����������8���.
__________________
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First Year B.Com. Examination, October/November 2013
(New SIM Scheme)

BUSINESS ORGANISATION AND OFFICE MANAGEMENT

Time : 3 Hours Max. Marks : 90

PART – A

Answer any three questions. 15 marks each. (3×15=45)

1. Define joint stock company. Explain the merits and demerits of joint stock
company.

2. Explain Henry Fayol’s principles of management.

3. What do you mean by communication ? Explain the significance of communication.

4. Discuss the various internal and external sources of recruitment.

5. What is motivation ? Explain Abraham Maslou’s Need Hierarchy theory.

PART – B

Answer any three questions. 10 marks each. (3×10=30)

6. What do you mean by partnership deed ? State its contents.

7. Explain the various functions of management.

8. Define public utilities. Explain the characteristics of public utilities.

9. Define Leadership. State the qualities of a good leader.

10. Explain the steps involved in planning.

PART – C

Answer any three questions. 5 marks each. (3×5=15)

11. State any five differences between public company and private company.

12. Write a note on co-operative society.

13. Briefly explain any five advantages of budgetary control.

14. Write a note on MBO.

15. Briefly explain the benefits of business combinations.
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�������

���������	�
�	���������
������������������������
������ 15����������� (3×15=45)

1� ��
�������������  �� �!��"���� ��#$�#%��� ��
�������������  �� �!����"����
&���������������
�"�"����
&������"����'�����

2� (�%
�)���*+	��%��,(�-���� �.�������/����"���� ��01�����2�'�����

3�  ����(�"��3���	�4"���5� ����(�"������
����6#��������7�'�����

4� "�4�����8���9�������(���
�:�(�#����
&��������7�'�����

5� ��
4	�4; ���������3���	�4"���5��:�
(������ �
<4	���	�������#�����=>��
4>����?�����"����'�����


�������

���������	�
�	���������
�������������������
8���
������ 10����������� (3×10=30)

6� ��&�������@��A����3���	�4"���5����	����������"����8���

7� %��,(�-����''B������,����"����'�����

8�  ���,C%��� �4��� �� �!�������	�4"���5����������&��1D����"����'�����

9� E"�������/F���#$�#%���@�G���������"�����"�����D����"����8���

10� H
4C"����(��������"����'�����


�������

���������	�
�	���������
������������������������
������ 5����������� (3×5=15)

11�  ���,C%�����������$� �2������%�����"����'"�����������	�
�I������#��# �����"����8����

12�  �(����� ��J��������7�K��A>��	�L���

13� ���-����������������������
������������	�
�I�����"����
&������"����'�����

14� ���M4��B�����%��,(�-��(MBO)����7�K��A>��	�L���

15� ��#���� ��H
4C"�����"����
&����"���� ��01�����2�'�����

——————
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First Year B.Com. Examination, October/November 2013
(New SIM Scheme)

INDIAN BUSINESS ENVIRONMENT

Time : 3 Hours Max. Marks : 90

PART – A

�����–��

Answer any three questions 15 marks each. (3×15=45)

���������	�
���	
��	���
�������������������
����
������15�����������

1. Explain the various economic and political environment factors affecting business.

�������	������� !�����"�����# 	�����$$%��&'(�����������	�)* ������+�	������������,����$�����

2. Compare and contrast capitalistic and socialistic economic systems.

-�.�������/���������+����)��0��/�&'(��������+�1���+2�����������������3$%��������,����4���

3. Define Technology. Explain its influence on business.

�����
5�6,���,�������7��8����������	������� !��&��������
9�������,����$�����

4. Explain the role of Government in development and regulation of Industries in
India.

9�	�����:;���3����������<�����=�����������8�����
>��:;�+���(	��������
��,����$�����

5. What are the causes for Mergers and acquisition ? Explain the recent trends in
India.

�����8�����?��
@.��$�������������
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PART – B

�����–��

Answer any three questions 10 marks each. (3×10=30)
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6. Discuss the social responsibilities of Business.

���������E�����+����F���)��<�G�����,����H�D(��
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7. Explain the problems of small scale and cottage industries.

+�>I������������J���3����������+����+������,����$�����

8. Discuss the current issues in insurance sector. How does IRDA regulates
insurance business ?

$�����������	����C4� D,��<�����=����,����H�D(���$�����������	���:;��IRDA �� ���8���4
+��4����B

9. Explain the process of privatisation of Public Sector through Disinvestment.

+���()8�����E����:;�-�.������/���.���������
*
K���,����$�����

10. Explain the Micro Environmental factors which Influences business.

�������	������� !�����"�����# 	�����+�
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PART – C

�����–��

Answer any three questions. 5 marks each. (3×5=15)
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11. Write a note on Business Ethics.

�������	����,�34�������-��@�O��P=�-	�Q���

12. Write a note on WTO.

WTO -��@�O��P=�-	�Q���

13. Write a note on FDI in retail sector.

DE;	�����	�R��:;�$�� S�,� 	����
J�����-��@�O��P=�-	�Q���

14. Write a note on New Economic Policy.

��
+��&'(���8 4���-��@�O��P=�-	�Q���

15. Write a note on SEZ.

SEZ -��@�O��P=�-	�Q���
__________________
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������������	� L 117/CL 117 (New)

First Year B.A./B.Com. Examination, Oct./Nov. 2013
(New SIM Scheme)

TELUGU (L)
Old Poetry, History of Telugu Literature and Language Component

Time : 3 Hours Max. Marks : 90

Note : All Sections are compulsory.
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SECTION – C
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